cd: peer_connection Package)

peer_connection

<< entity >> << interface >>
UPNnP ConnectionNegotiationListener

+redirectionNeeded(event:ConnectionNegotiationEvent):void
+connectionFailed(event:ConnectionNegotiationEvent):void
+connectionSucceeded(event:ConnectionNegotiationEvent):void
+connectionErrorOccured(event:ConnectionNegotiationEvent):void

+forwardPort(port:short):boolean

<< enumeration >>
NegotiationStage

FIRST_CONNECTION_ATTEMPT:int
-SECOND_CONNECTION_ATTEMPT:int I - - - - - - - - - - - - -

<< boundary >>
ConnectionNegotiationEvent

-errorType:NegotiationError
-session|D:String
-socket:Socket

<< create >>+ConnectionNegotiationEvent(sessionID:String):ConnectionNegotiationEvent

<< create >>+ConnectionNegotiationEvent(sessionID:String,errorType:):ConnectionNegotiationEvent
+getErrorType():NegotiationError

+getSessionID():String

+getSocket():Socket

<< entity >>
P2PConnectionNegotiator

<< entity >> << enumeration >>
P2PSocketFactory NegotiationError

-pAddress:String

-sessionID:String

disteningPort:short

-connectingPort:short
-eventListener:ConnectionNegotiationListener
-hegotiationStage:NegotiationStage

<< create >>+P2PConnectionNegotiator(sessionID:String,listener:ConnectionNegotiationListener):P2PConnectionNegotiator
+listen(port:short):boolean

+connect(ip:String,port:short):void

+stageFailure(ip: String,port:short):void

+getListeningPort():int

+getSessionID():String

~acceptedConnection(socket:Socket):void

+createSSLServerSocket(port:short):ServerSocketChannel PORT_UNAVAILABLE:int

+createSSLClientSocket(ip:String,port:short):net.Socket

<< entity >>
ServerSocketThread
-port:short
1.x * | -negotiations:ConcurrentHashMap<String, P2PConnectionNegotiator>

HisteningSocket:ServerSocketChannel
-activelnstances:ConcurrentHashMap <Short, ServerSocketThread>

<< create >>-ServerSocketThread(port:short):ServerSocketThread
+addNegotiation(negotiation:P2PConnectionNegotiator):void
+removeNegotiation(negotiation:P2PConnectionNegotiator):void
+createServerSocket(port:short):ServerSocketThread




